SATA

it
Model

CB202D -YL40 - S3050-B1 - M 750W - B

55 3% 75 A Motor direction

B1 BiEA LR
B2 JEAiT ik
B3 BELIFKTF
B4 JEAITAKF
BS MSEALIT T
B6 BiEAITNIE

Motor leftward,upper position
Motor rightward,upper position
Motor leftward,horizontal position
Motor rightward,horizontal position
Motor leftward,lower position
Motor rightward,lower position

ALRSHEHE 772 BiEyE  BEMMELEH s
Hole type and movement per revolution Stroke Motor direction L Motor brand and output Brake
! Eﬁﬁi‘ ‘ FS % K2 HH ) Motor brand and outpu t

H 3R Hiwin

X 7aP9F Siemens
M =2 Mitsubishi
Y %Il Yaskawa
P #AT™ Panasonic
F &=L Fuji

T &% Delta

CB202D#R1&3R (CB202D Specification):

BT 750W
AC Servo motor output(W)

A +0.04
Repeatability(mm) -
SRBIE 39.9515
Equivalent to lead(mm)

RAREHE

Maximun payload(kg) 55
ERIREE

Maximun speed(mm,/sec) 2000
772 150~3050
Stroke(mm) 100/ B& (interval)

R 58N 23x22-235 (Linear Guide23x22-2 (11

90°

IR ZHENEF (3 fmmm) o T e e i P g o)
Horizontal use Wall installation use
90° 45° 0° 90° 45° 0°
25kg 1588 790 349 25kg 500 245 1805
40kg 1052 526 285 40kg 322 165 1152
55kg 768 380 206 55kg 206 109 768

RmRE P ORMXYE O ER (EHSE)
Distance center of slider fop to center of gravity of object being
fransported (For reference only)

BEATraNigs
Stdic Loading Moment

(BE432:N.m) ( Unit:N.m)
Jk{E RS Static Loading Moment

2052
2052

1810

WoOoY ues|5)-salias 1jag




SATA

L=(f744{T1% Effective stroke + 548)
320 AT Effective stroke 228
160G
| 160G ) |
" - 68T AR |
Mechanical Limit |._QZ__‘ MechanicaILimi‘
L_° I
o
@
) i
I P— ]
e
= 8-M8x1.25 25 |
B 2-H7 @8 -15 Depth
9 N
E —
]

_6-:

218,2 N-M8
2-H7 @6 S A
Ne= + + —
W | i
© o < i 3
~— I T -
»
@ ; | | T
C:I;' T T T —
wn 65 | M*200 1 A ! 50
1
[}
)
S
g L 698 | 798 | 898 998 | 1098 | 1198 | 1298 | 1398 | 1498 | 1598 | 1698 | 1798 | 1898 | 1998 | 2098 | 2198 | 2298 | 2398 | 2498 | 2598 | 2698 | 2798 | 2898 | 2998 | 3098 | 3198 | 3298 | 3398 | 3498 = 3598
(o]
3 A 50 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 |150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 ‘ 150
M 2 2|3 |3 4|4 5|56 6|7 788 99 w0 01212 1313 14 14 15|15 16 16
N 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30 32 32 34 34 36 ‘ 36
FE2(kg) 280 304(328 352 37.6 | 400 | 424|448 | 472 49.6 520 544|568 59.2| 616|640 664|688 712 73.6 760|784 808 |832 856 880 90.4|928 952 97.6

XARNBZHEEBRIG R » FRNB 1T840 %Drawings and specifications are subject to change without prior notice.

L=(f7%(712 Effective stroke + 548)

20 HE{THE Effective stroke 228

180

160G S {5
GBI 68T fifl .
Mechanical Limi -7} Mechanical Limit

T ]
i o
@
i
I | i
it = i
- - 25 |
\JB—MBXI.ZS
O 2-H7 @8 -15 Depth
—— KT & M s e
d |
h %F@

N-M8
218,2 2H7 g6
== | — A
AN 4 4 4 4
5 t 3|
T 1 E
O
| , ,
T T
65 M*200 A 50

750 850 1250 1350 2450 2550 2650 2750 2850 2950 3050

698 | 798 | 898 | 998 | 1098 | 1198 | 1298 | 1398 | 1498 1598 | 1698 | 1798 | 1898 | 1998 | 2098 | 2198 | 2298 | 2398 | 2498 | 2598 | 2698 | 2798 | 2898 | 2998 | 3098 | 3198 | 3298 | 3398 | 3498 | 3598

50 | 150 | 50 150‘50 150 | 50 | 150 | 50 ‘150 50 | 150 | 50 150‘50 150 | 50 | 150 50‘150 50 | 150 | 50 150‘50 150 | 50 | 150 50‘150

L
M 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 (1011 1 12012 1183 |13 14 | 14 |15 | 15 | 16 16
N

8 8 10 | 10 ‘ 12 | 12 14 | 14 | 16 ‘ 16 | 18 | 18 | 20 | 20 ‘ 22 | 22 | 24 | 24 | 26 ‘ 26 | 28 | 28 | 30 | 30 ‘ 32 | 32 | 34 | 34 | 36 ‘ 36

i%(kg) 28.0 1 30.432.8 | 352 37.6|40.0 424|448 47.2 49.6]52.0 54.4|568|59.2 61.6 640 664|688 712 73.6|76.0 78.4|80.8 832 856 |88.0 90.4|928 952 97.6

AR B 4T84 % Drawings and specifications are subject to change without prior notice.

IS

XRNTZEEE MG




SATA

132,75

218,2

128

L=(H%{71% Effective stroke + 653)

ARTAE Effective stroke

228

265 R )

180

Mechanical Limit

i
all

44»4
164

Mechanical Limit ’—_92__‘ sT@ﬁg@a)
[ _=° i
| 5
15}
| —
: |
[ r— ]
L
295
8-M8x1.25
2-H7 @8 -15Depth
H [ f i 1 ’
N-M8
2-H7 B6 N
5 & e ’e 5
+ + + T
L]
. <
i
| |
: : : —
65 | M*200 ! A 150

150 250 450 550 650 750 850 1050 1150 1250 1650 1750 1950 2050 2150 2250 2350 2450 2550 2650 2750 2850 2950 3050
L 803 | 903 | 1003 | 1103 | 1203 | 1303 | 1403 | 1503 | 1603 | 1703 | 1803 | 1903 | 2003 | 2103 | 2203 | 2303 | 2403 | 2503 | 2603 | 2703 | 2803 | 2903 | 3003 | 3103 | 3203 | 3303 | 3403 | 3503 | 3603 | 3703
A 50 | 150 | 50 | 150 | 50 ]50‘ 50 | 150 | 50 | 150 | 50 ‘ 150 | 50 | 150 | 50 150‘ 50 | 150 | 50 | 150 | 50 ‘]50 50 | 150 | 50 ]50‘ 50 | 150 | 50 | 150
M 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 1 1 12 12 13 13 14 14 15 15 16 16
N 8 8 10 10 12 | 12 ‘ 14 | 14 | 16 16 | 18 ‘ 18 | 20 | 20 | 22 | 22 ‘ 24 | 24 | 26 | 26 | 28 ‘ 28 | 30 | 30 | 32 | 32 ‘ 34 | 34 | 36 36
E%(kg) 28.0  30.4(32.8 [35.2(37.6|40.0 42.4|44.8 47.2 | 49.6|52.0 54.4|56.8 | 59.2|61.6 |64.0 66.4 688 |71.2|73.6|760 78.4|80.8 83.2|856 88.0 90.4|92.8|952|97.6
KANBZEEZERK TR » BARBITIEA] *Drawings and specifications are subject to change without prior notice.
L=(f5%({7i2 Effective stroke + 653)
425 HRETHE Effective stroke 228
180
2655 )
i e8(Al)
Mechanical Limit ._QL.‘ TMechaﬁicaJ Limit
| [_=° i
i o
O
} i
[ ]
\
8-M8x1.25 25
2-H7 @8 -15Depth
2 5 g | |
h - a0
N-M8
2182
2-H7 @6
el A
S i i —
» : . —t }g
X 4 3
i 1 g
O
[

M*200

250 350 650 750 850 1050 1150 2950 3050

L 803 | 903 | 1003 | 1103 | 1203 | 1303 | 1403 | 1503 | 1603 | 1703 | 1803 | 1903 | 2003 | 2103 | 2203 | 2303 | 2403 | 2503 | 2603 | 2703 | 2803 | 2903 | 3003 | 3103 | 3203 | 3303 | 3403 | 3503 | 3603 | 3703

A 50 150 | 50 | 150 | 50 | 150 ‘ 50 | 150 | 50 | 150 | 50 ‘ 150 | 50 | 150 | 50 | 150 ‘ 50 | 150 | 50 | 150 | 50 ‘ 150 | 50 | 150 | 50 | 150 ‘ 50 | 150 | 50 | 150

M 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 [ 10| 11 11 12 012 113 | 13 | 14 | 14 15 | 15 | 16 16

N 8 8 10 10 | 12 | 12 ‘ 14 | 14 | 16 16 | 18 ‘ 18 [ 20 | 20 | 22 | 22 ‘ 24 | 24 | 26 | 26 | 28 ‘ 28 | 30 | 30 | 32 | 32 ‘ 34 | 34 | 36 | 36
E%( kg) 28.0 30.4 (328 |352|37.6|40.0 424|448 |47.2 | 49.6|520 544|568 59.2|61.6|640 66.4 (688 71.2|73.6|76.0 78.4|80.8 832|856 |88.0 90.4|/928952|97.6

XARNBZHETRIRZELR » BRBITHEN *Drawings and specifications are subject to change without prior notice.

w
@
(7]
@
=,
o
®
@
®
o
=
Py
o
o
3




SATA

L=(f7%{ 747 Effective stroke + 548)
20 HRITEE Effective stroke 228

180

160G ) 68
T i
Mechanical Limit| & Mechanical Limir

[ T I
I o
0 —
| r— ]
i
\8-M8x1.25 - ‘—”é

2-H7 @8 -15Depth

i T
o

2285

ol Eﬂ
218,2 |
2-H7 %6 N e A
. e

e 5 e
‘ , , ==z
I — 3
! =
I " T T t T
T T T T T
65 | 3*200=600 I A 1 50

1350 1450 1550 1650 1750 1850 1950 2050 2150 2250 2350 2450

798 | 898 | 998 | 1098 | 1198 | 1298 | 1398 | 1498 | 1598 | 1698 | 1798 | 1898 | 1998 | 2098 | 2198 | 2298 | 2398 | 2498 | 2598 | 2698 | 2798 | 2898 | 2998 | 3098 | 3198 | 3298 | 3398 | 3498 | 3598

150 | 50 | 150 | 50 | 150 | 50 | 150 [ 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150

50 | 150 | 50 [ 150 | 50 [ 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50
4 4 5 5 6 6 7 7 8 8 9 9 101011 |1 12 [ 12 | 13 | 13 | 14
24 | 24 | 26 | 26 | 28 | 28 | 30 | 30 | 32 | 32 | 34 | 34 | 36 | 36

oY)
@
~—
o
@
3.
@
@
)
o
)
=
Py
o)
o)
=

14 |15 | 15 | 16 16

8 8 |10 | 10 | 12 | 12 14 | 14 [ 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22

90.4 928952 97.6

kg) 28.0|30.4 |32.8 | 352 | 37.6|40.0 | 42.4 448|472 | 49.6|52.0 | 54.4 | 56.8 | 59.2 | 61.6 | 64.0 |66.4 688 |71.273.6|76.0|78.4 808|832 856 |88.0

XANTZEE B RE RS » ZARBITH4E) %Drawings and specifications are subject to change without prior notice.

L=(H%L{72 Effective stroke + 548)

320 HRUITHE Effective stroke 228
160G 140 o
Mechanical Limit ’._QL_‘ Mechanical Limi[’ii
‘ T [ i

] o

A
| - B
| 1 = ]
et
\8—M8x1.25 25
2-H7 @8 -15 Depth
I (=
[}

218,2 -
2-H7 @6
Ll Al
e py

I 5 it e
» . . —s g
N = 3
T T E
I I T —
T T T T T
65 | 34200=600 |-a | 50

1350 1450 1550 1650 1750 1850 1950 2150 2250 2350 2450 2550 2650 2750 2850 2950 3050

698 | 798 | 898 | 998 | 1098 | 1198 | 1298 | 1398 | 1498 | 1598 | 1698 | 1798 | 1898 | 1998 | 2098 | 2198 | 2298 | 2398 | 2498 | 2598 | 2698 | 2798 | 2898 | 2998 | 3098 | 3198 | 3298 | 3398 | 3498 | 3598

150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150 | 50 | 150
1 12112 [ 183 | 13 | 14 | 14 | 15 | 15 | 16 | 16

L

A 50 150 | 50 | 150 | 50 | 150 | 50

M 22 3|34 4|5 5|66 7|7 8|8 9 9|10 w0|n
N

&(

18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28 | 30 [ 30 | 32 | 32 | 34 | 34 | 36 | 36

760 |78.480.8|83.2 (856 88.0|90.4|928 952/ 97.6

kg) 28.030.432.8 352 |37.6 40.0 | 42.4 | 44.8 |47.2 | 49.6 52.0 | 54.4 | 56.8 | 59.2 | 61.6 64.0 |66.4 |68.8 |71.2|73.6

RSB 1T3@A] *Drawings and specifications are subject to change without prior notice.

Iy

XANAZEBERE LS






